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300ml +450ml

Answers on the next slide

Fast Five 

30x2=



40+30=70

3x8=24
9x5=45
6x3=18

300ml +450ml
750ml

Answers on the next slide

30x2= 60

5  0   3
1  1

Fast Five 



Can I solve missing number problems using the column method? 

     H T O

_     6     2
4       2     _+

1) Remember to always start with 
the ones column. 

2) What do you add to 2 to get to 6?
Count on your fingers or draw a 
number line if you need. 

7 8     6



Can I solve missing number problems using the column method? 

     H T O

_     6     2
4       2     4+

1) Remember to always start with 
the ones column. 

2) What do you add to 2 to get to 6?
Count on your fingers or draw a 
number line if you need. 

3) Next move to the tens and then 
hundreds. What do you add to 4 
to get to 7? 

7 8     6



Can I solve missing number problems using the column method? 

     H T O

3     6     2
4       2     4+

1) Remember to always start with 
the ones column. 

2) What do you add to 2 to get to 6?
Count on your fingers or draw a 
number line if you need. 

3) Next move to the tens and then 
hundreds. What do you add to 4 
to get to 7? 

7 8     6



Can I solve missing number problems using the column method? 

     H T O

3     5     _
4       _     2+

Now try this one. Remember to start 
with the ones column. 

7 9     5



Can I solve missing number problems using the column method? 

     H T O

4     4     _
5       2     5+

1) Starting with the ones column, 
this time a ten has been 
regrouped. We need to find what 
would be added to 5 to make 12. 

9 7     2
1



Can I solve missing number problems using the column method? 

     H T O

4     4     7
5       2     5+

1) Starting with the ones column, 
this time a ten has been 
regrouped. We need to find what 
would be added to 5 to make 12.

  

9 7     2
1



Can I solve missing number problems using the column method? 

     H T O

3     2     8
_       2     _+

Now try this one. Remember to start 
with the ones column. 

8 5     3
1



Can I solve missing number problems using the column method? 

     H T O

3     2     8
5       2     5+

Now try this one. Remember to start 
with the ones column. 

8 5     3
1


